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From 2°77% 29> to 7 — 7Y9% 297Y® BN

OVERVIEW

moon will be discussing why is it that in the previous two cases, mention
was made only where the 3 came from, and not to where it was brought;
however in this case the mwn finds it necessary to tell us also, to where the
v was brought, i.e. T%.
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The "2 says that the reason the 71w» mentions 7%, even though it is
seemingly superfluous, for it really makes no difference to where in 77X
X7’ the v3 is being brought; nevertheless the Xin mentions M7 to teach us
that even though the reason it was called 271 25> -
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Was on account of the inhabitants of 799 who were constantly there in 9>
o7, and therefore the city of 2>7% 195 should be considered as part of %, which is in
>"X, and would therefore not have to say 11"927 3"93 -
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Nevertheless when a 03 is brought from 2°71% 195 to 7% (°"X), it is necessary

to say 1''921 152, and 2°712 192 is not considered as part of 7V itself, but it
is rather considered as part of 5™.

mooin offers another explanation why the Xin mentions 717
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And 9°K% 1521 explained the reason for mentioning 7% is that X', who is
the Xin in the mawn who states that one must say 1"92 from 792 2°71% 192,
mentioned the name of his own city where he lived -
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As the X3 says, ‘follow after 8"9 to his hometown of >71%°. Therefore he
mentions 77, as if to say; if someone were to bring a v3 from 2°71% 795 to here (117), he
would have to say 1"92.

! For according to either of the reasons the Xn3 gives for the requirement to say 193, which are 1XP2 PX
MWD or MMPY 01N 0TV PR, they seem not to apply to 2717 193, See ‘Thinking it over’.
* The x»3 there is expounding the verse 31790 7% 7% that one should seek a just 7"32, and gives examples
where they can be found, one of them being X" in T1.
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mooIn objects to the previous explanation of 1"
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However, the >''1 does not accept this explanation of »"4, for now that you

mention that X" lived in T, he certainly should not have mentioned that
the v was brought to M7 -

— HNIY NIND 01 D700 NNIP NI VP NDT 97 95

Just as the »'"'n of our Mwn does not state that the v3 was brought from
s Nt o 3R
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For it is obvious that the ©v3 was brought to *"X, for that is where the Xin

Xnp lived, so it is not necessary to belabor the obvious. Here too we cannot say that X"
is mentioning 7% for that is where he lived, for that too is obvious, that when he would
say that someone brought a v3 from 2°71% 793, we would (also) assume that he means that
the v3 was brought from 2°711% 993 to 77%. We would therefore have to assume the first
answer of MooIn.

SUMMARY

mpoIN gives two reasons why the 7Iwn states that the v was brought from
7% 192 to 9. A) for one might think that since 2°T1% 995 was constantly
visited by the people of 77, it should be considered part of 7% and not be
required to say 1"93, therefore the 71wn teaches us 1"01 is still required since
it is in ™17, B) 71v°%K " was just mentioning the name of his city, saying that
even if one brought a v from 2°71% 195 to 7% he would have to say 1"52.
mooIN rejects the second answer, saying on the contrary since v°7X " lived
in 7Y there is no reason for him to mention it, for we will assume that he is
discussing a v that was brought to his city. The same as we find by the p"n
that we understand that he means a ©v3 was brought from *"7772 to *"X, without
him specifying it, for that is where the p"n lived.

THINKING IT OVER

Did noon mean in the *x™: that: a) one would not have to say 1"52 if one
brought a v from 2°712 195 to 77 only, or b) that one would not need to say
1"53, if one brought a v3 from 2>71% 193 to anywhere in “"X?

3 See footnote # 1.
* See mwn nbm.
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